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ECONOMICS - II

(a) [Elements of Statistics and Mathematics]
Maximum Marks:" 100 for Arts

g 3N maﬁi:?ﬁfm&knm
Write your '“Jf' number on question paper before start wriling answers of questions. No supplementary
answer-book will be given to any candidate, hence the candidates should write their answers precisely.
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Part-A shall contain question No. 1 consisting of very short answer type x (Ten) questions. The candidate is

required to answer each question in 20 words. Part-B shall contain question No. 2 congisting of v (five) questions.
The candidate is required to answer each question in 100 words. Part-C shall contain 3 essay type questions (om

Time Allowed : Three Hours

from each section) with internal choice.
Attempt Five questions in all. All questions of Part-A and Part-B are compulsory while rest 3 questions are to &

attempted from Part-C selecting one question from each section. Ail questions carry equal marks.
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PART - A/ WA -NA
10x2=20

| (1) Prove that:
fag #ifa

g0 +2n—1 3
- —

2n+l g0 2

(i) Solve the following :
frefefaa =) v #ifag ;

Ja5:3+ ¥80:% + J5y?

(iii) Define Singular Matrix.
frirere Az ) wftTRe FRed
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(iv) Find the value of the determinant -

Brfore =1 T W A0
PR
2 -4

(v)  The firat term and common difference of an A P_iq 4and -1 reapectively then fi
(7'h term. h ffind Peventh

T T A T TR TR A G 3 w4y 13 74 9z frwmh

iy If "Cg : "(‘!as— 2:9 show that n=10.

Ne&~ .M .
R "cy Cq=2:9 A R B n=10 8,
(vi1) State general equation of Parabola.
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(viii) Find %
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1
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(ix) State the conditions for maxima,

Afor 1 ol saed |

(x)  State the uses of index numbers.
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PART -B/ v -9
2. () Simplify:
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(ii) Prove that:
fag #ifed :
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Integrate
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Find the mirzing freguency fram the following data

s syl A aam TR I A0
J Marks

i () 010 [ 1020 | 2030 | 30.40 | 1050 | 506D
|'Nn of studenta

G L I T P w | 10
LT |

The arithmetic mean is 34 marks.

W=H WS 34 & ¥

Find the focus and directrix of the Parabola.
W F PiFy au e @ e

W= dax 4y

Expand :
forar S -

(4 + 3y~

Find the Inverse of :

gadamaﬂﬁil:

2 -2 3
1 0 -3
3 4 0

PART - C / ¥0T - W

SECTION - A /@Ug -3



(iv) Following are the demand functions for two commodities x and x, : 5
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Determine the nature of the commodities.
T F wpfa Praffm st
OR / 3yaar
1] If a, b, c are the pth, q* and r'h terms respectively of an A.P. then show that :

7fe a, b, ¢ THRR a@*m:pﬁ, qﬁﬂmrﬁﬁ%ﬁlmﬁmﬁ:
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(i) Prove that :
fag Fifed :
a+b+2¢c a b
¢ btct2a b |=2(atb+c)’
c a c+a+2b

(i) Solve the following equation by Cramer’s rule :
7 & fram gR e e =01 v wifa
3, +xy+xg=1
2x, +2x,=0
5x) +x5+2x3=2

(iv) If the demand function is p = (4 — 5x)2, for what value of x the elasticity of demand will be
unity.
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SECTION . B/ %vg .
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Define atatiatica. Alao atate the functiona and applicationa of atatistics
witters) =) vftvfs = | wifers? ¥ wef aon sepeimt A @ aae )
Calculate the value of mode for the fallowing data
fir sl & RTT AT 1 6T T i . °
35 Ve m : )
i 15 20 26 a0 B 1 40
Frequoncy | . e SECSE SURSNIUUY NN I S
. B i2 36 36 28 18 9
OR / atusT
1

A machi i i
ome t:ery depl::;ated by 40% in the first year, 25 percent in the second and 10% p.a
g the next three years. What is the average rate of depreciation during the whole

period ?
OF TG ¥ gea #1 @9 1w 99 40%, feda T 25 TREE AW e @R wst F AT 10% pa¥y

HHYof W ¥ SR e w9 W sien e
From the prices of shares of X and Y below find out which is more stable in value.

)
XWYﬁ:ﬁﬂMaﬁaﬁnﬁﬁmaﬂﬁmﬁﬁwﬁﬁﬂmmw% 2
X 35 54 52 53 56 58 52 | 50 | 51 | 49
Y 108 107 105 105 106 107 104 | 103 | 104 | 10I
SECTION-C /@vs -¥
wing series of marks secured by
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Find Karl Pearson's coefficient of correlation from the follo
10 students in Mathematics and statistics :
nfora qeon wiferw 4 10 forenefat gy R T si &t Frm Foit § w1 fadA =1 HewEry U
F1d FifIC I
Marks
in
Mathematice | 46 | 70 | 66 | 30 | 80 | 40 50 | 76 | 8 | 60
cfora # wrae)
Marks
in Statistics
Q
40 | 95 | 40 | 60 | 80 80 | ©
(it d | 80 | 70
i) o
Also calculate probable error.
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VC“’/ State propertiee of coefficient. of correlation.

TEaTay e ¥ frdreend e
OR / Ay
W Construct the consumer price index number for 2014 on the haain of 2013 from the following 10
data :
ﬁnmhgfﬂznmwﬁmmﬂmznutmmrmmmm:
e i - e e ey ¥ — S— R __... — ... S ....\._.l
Commodity | Quantity Consumed in 2013 Units | Pricein 2013 Pm;jlln«tz':u
(ag) (2013 % 39vim-wr) (wf) | (2013 % =ma) { )
A 6 Quintal Quintal
(6 frize) fopzet 5.76 6
B 6 Quintal Quintal
6 faieen) fadae § 8
c 1 Quintal Quintal
( fze) firee 6 ?
6 Quintal Quintal
D (6 fadzat) firizat 8 10
E txe ' N 2 1.50
(4 feretmm) v - ]
. 1 Quintal Quintal 20 s
/ F (1 fieer) faieet

(ii) Height of the fathers and sons are given below. Find the height of the son when the height of
father is 70 inches.

fgan ok gAf &1 e e @1 g3 Y e 39 e 9 i # oar 7o =

Height of Fathers (inches) 71168 (66| 67|70 |71]170)|73]|72|65] 66
oo &t g (g H) |
Height of Sons (inches)

. 69 | 64 | 65 | 63 | 65| 62| 65| 64 | 66 | 59 | 62
B F o (391 F)

-00o0-



